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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i1)
(iii)
(iv)
v)
(vi)
(vit)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 8§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

1.

16x1=16
When MnOs is fused with KOH in air, it gives :
(A) KMnO4 (B) K2M1‘104
(C)  MnyOr (D) Mn,04
Ligand EDTA*” isan example of a :
(A) Monodentate ligand
(B)  Didentate ligand

(C)  Tridentate ligand
(D)  Polydentate ligand

56/2/1-12 3 VWMWY P.T.O.



3. Tmfafea foe & @ sH-a1 Shicie O Hidd Har g ?
9_
(A) 0204
(B) CI'
(C) NO;
(D) NH;

4. fTrafafea 3 @ frad sp? depfta e X & armefea 2 2
(A) CH,=CH-CH,-X

w CF

(D) CHy-CH,-X

5. fferfiga 3 @ ia-an gatfaes i 2 2

. ©/CH2-0H » Cr
(©) O/OH o LT o

Cl

OH

6.  UlEA, HI % a9 A1fsham ik &dr 2 :
OH

(A) ©/ +CHy -1
I

(B) ©/ + CH3 = OH
CH, - OH

(C) ©/ + CHg -1
CH, -1

o I + CHy - OH



3. Which of the following ligand forms chelate complex ?

4) C,0;
(B) CI
(©) NO;
(D) NHj

4, Which of the following contains sp2 hybridised carbon bonded to X ?
(A) CH,=CH-CH,-X

(D) CHy-CH,-X

5. Which of the following is most acidic ?

. ©/CH2-0H » Cr
(©) O/OH o LT .

Cl

OH

6.  Anisole reacts with HI to give :
OH

(A) ©/ +CHy —1
I

(B) ©/ + CH3 - OH
CH, - OH

(C) ©/ + CHg -1
CH, -1

o €I + CHy - OH

56/2/1-12 5 VWMWY P.T.O.



WA 413 K W €1 H,S0, % a9 T it Wl 3 :
(A)  C,H,0S0.H

(B) C,H;-0-CH;

(C)  CyHy— O — C,H;

(D) CH, = CH,

8. T gdl & feraarell fae=m o1 FaeqTe I A1 gai & FEeEh | I g
HEERE
(A) HJw @
(B) USee oM ¥ garcHsh foa=re gurtarn 2
(C) TSee F9m ¥ RMTcHs forrer gorfar &
(D) TR fom & +iE fomem T8 gufar 2

9. fordt raromeiie faci o Siefia faet=a o a7 a9 1 3TUferes 3198 0-0225
2 | rarsysiiel foed 1 HIdA-3791 @ -

(A) 0-80
(B) 0725
(C) 015
(D)  0-:0225

10.  NaCl% e foerr % Fed-staed 2 :
(A)  *E W H, (g) I Bl 2
(B) hdie W Na fififa g 2
(C) TS W O, (g) Hd Bl &
(D) %S W Cl, (g) G Bl 2



7.  Ethanol on heating with conc. H,SO, at 413 K gives :
(A)  CoH;0S0O3H
(B) CyHs—-O -CHgq
(C) CoHy—-0-CyHy
(D) CH, =CH,

8. An azeotropic solution of two liquids has boiling point lower than either

of them when it :

(A) is saturated

(B)  shows positive deviation from Raoult’s law
(C) shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0-0225. The mole fraction of the

non-volatile solute is :

(A) 0-80
(B) 0725
(C) 015
(D)  0-0225

10. During electrolysis of aqueous solution of NaCl :

(A) Hy(g)is liberated at cathode

(B) Nais formed at cathode
(C)  Og(g)is liberated at anode
(D)  Cly(g) is liberated at cathode

56/2/1-12 7 VWMWY P.T.O.



11. TEEFES 9fha & aUa 3 e § 31fyfshan i FfailRga amenst @ @
forgen aftafda st 2ar 8 ?

(A) T
(B) Gfspaur Sl

(C) Ul
(D) AR Al

12. ol wmafies stfufshan P Q o faw P’ & @9 gF i &, P’ < Figar g
T T, 8 % U | 9 St & | P’ o i ATSHAT hi il B

A 3
B) 4
C) 2
(D) 1

Uy7 &7 13 @ 16 & 70, @ %97 130 70 § — (9574 v &1 sif9emaT (A) aam
ga? & FHRT (R) GRT 3ifaa e 147 & | 37 9941 & @t 3w et fav 77 @ist
(A), (B), (C) 37 (D) & @ gaahe 9T |

(A) SR (A) 3 SR (R) THI T&l & 3T ROl (R), 3THAT (A) I
e AT HT 8 |

(B) 3o (A) 3R SR (R) gHT T&l &, T R (R), AR (A) i
g STEAT T8l T 7 |

(C) e (A) Tl 7, g SR (R) T4 7 |

(D)  3fieher (A) Treld B, 9% SROT (R) & 2 |



11. The addition of catalyst during a chemical reaction alters which of the

following quantities of the reaction ?
(A)  Enthalpy

(B)  Activation energy

(C)  Entropy

(D)  Internal energy

12. For the elementary reaction P—Q, the rate of disappearance of ‘P’
increases by a factor of 8 upon doubling the concentration of ‘P’. The

order of the reaction with respect to ‘P’ is :

A 3
B) 4
C) 2
(D) 1

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

56/2/1-12 9 VWMWY P.T.O.



14.

15.

16.

17.

18.

STIFIT (A) :

PRI (R) :

STIFHIT (A) :

PRI (R) :

STIFHIT (A) :

FRI (R) :

STIFHIT (A) :

SR (R) :

UfcThieeh Terfireh U sl foer Tifsee Afcrmrge deawor g

ERIRCIRC IR

Ufeerad Base AfoMss ¥ Ud ROURE W {1 ATIHeRUE
eI T 7 |

DNA H U &ieh 39fedd giem 2 |

DNA S {dehtor il 2 |

tferthfess WHiAT & SR Sgun Y go § wWiafes wfia
% SEUHIIH AU ik TArfl g1d 8 |

Ufetthiees WiiHT o SIFUSIEH AUl AATE ST & |

p-EVIFj\Zf:I:I 1 319ET p-:||3§|Q|3|c_’i|:| W & 2 |
p-TELIUHEH H 3UfEd — NO, Hg 1 SAidH IIH 9

3 geicl &TReh 1 oal @ |

LCLCRC)

TR (HIeR geIWH = 180 g mol ~1) =T 6% faetam foreh arama el e
% 2:5% faa= & A1 TUIUER! 7 | ST Hlei-eh qgrd i ] AR qiehicrd

Hifre |

forelt worm ehife <t a1fufsRa o1 a1 foories 1-25x10°2 s L @ | 390 1firerds® &
5g 25 ¢ T T U a1 Tmg < ?

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 |

56/2/1-12
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i

13. Assertion (A) :
Reason (R) :

14. Assertion (A) :
Reason (R) :

15. Assertion (A) :
Reason (R) :

16. Assertion (A) :
Reason (R) :

17.

18.

56/2/1-12

Aliphatic primary amines can be prepared by Gabriel

phthalimide synthesis.

Alkyl halides undergo nucleophilic substitution with

anion formed by phthalimide.

Uracil base is present in DNA.

DNA undergoes self-replication.

Diazonium salts of aromatic amines are more stable than

those of aliphatic amines.

Diazonium salts of aliphatic amines show resonance.

p-nitroaniline is a weaker base than p-toluidine.

The electron withdrawing effect of — NOg group in

p-nitroaniline makes it a weaker base.

SECTION B

A 6% solution of glucose (molar mass = 180 g mol_l) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2

A first order reaction has a rate constant 1-25 x 107 s~%. How long will

5 g of this reactant take to reduce to 2-5 g ? 2

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 |
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19. (%) UAAAES MH 1 8 ? A-AAFS HGad hl ol H Th dwd 8 g
T o o1 UfaeArag mehed AfYe giar & | 91 ? 1+1=2
Jroran
(@) dshuul 9T UM T & 3= O F=AT gt 3 ? 3d-2vft ° fohw aw
1 FHUF T TEH HH B ? 1+1=2
20. (&) Afept & F=Afdfgd J@ & 9 wH-E1 AfE AfUs dadr 8 Sy2
rffsham sum SR &= 2
I B
N s N
(@) Fmfafed & gea 3aurg foflan 1+1=2
CH,CH, .
©/ Cl,, , TS ST
21. T=foRga ugi =1 aitarfya il : 2x1=2
(%) WA w1 foshdieRton
(@) oT9ga R
Qug T
22, Tm=ffga srfufsransti & A, B 2R C &t Ti=AN fafau . 2><1é=3
- NaOH + B
(%) CHg— CHy—Br —SCN A — , B0t |
(@) @ Fe + HCl | » NaNO, + HCl B C,H,OH c
’ 273 -278K ’
56/2/1-12 12 VAN



20.

21.

22.

(a) What is lanthanoid contraction ? Actinoid contraction is greater

from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b) Why do transition metals have high enthalpy of atomization ?

Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

(a) In the following pair of compounds, which compound undergoes

SN2 reaction faster and why ?

I Br
N or /N
(b)  Write the major product in the following : 1+1=2
<98 CL,, UV light
Define the following terms : 2x1=2

(a)  Denaturation of protein

(b)  Invert sugar

SECTION C
Write the structures of A, B and C in the following reactions : 2x1 é =3
KCN OH™ NaOH + Br
CH;-CH,-B >A > B 25
() 3 2= ot Partial hydrolysis
NO,
o) @ Fe+HCl  , NaNO, +HCl . CpHOH

273-278K

56/2/1-12 13 VAWMV P.T.O.



24.

25.

26.

56/2/1-12 14

fafaaa @ gag stfufsean fafgu . 3x1=3

(%) dePh-fryR =T
(@) foemaifeaem Tl
(M) S fifsean

fFrefefaa o fomm & fore srfufsranet & wrftemor dfSw (18 #7) 3x1=3

NN

F)  FARESE § HHE

©) Hera @ afdfesass
) Ui 9 2- At E N

(
(
(
(|)  HHia o fufshe oma

fafafea & fou sror e 3x1=3
(%) FARA Jaft SO 399 aug 3 R off I8 Tl soiwetwr
TfaeemyT arfrfshanati o sve /94U fewe 2 |

(@) fufees fasor gaor sreols & 2 |

(M) n-NfUS FAES i 3UET Uferad TS STfers e O Sa-2qa=fed &
EIcIES

283 K T Tohtll foei™eh &1 9157 g6 100 mm Hg ® | 38 F o™ &1 a9
e qitehictd shitvie forem 283 K W Tohdll weid faed-emaeed AB &1 1 A
foemres & 50 9 | ga 8 (I8 AW oiiaie fob foaera AB quia: fo=ifra &t S
2) | 3




24.

25.

26.

Write the reaction involved in the following : 3x1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction

(¢) Cannizzaro reaction

Give the equations of reactions for the preparation of : (any three) 3x1=3
(a) Phenol from chlorobenzene

(b) Salicylaldehyde from phenol

(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

Give reasons for the following : 3x1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic
substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

56/2/1-12 15 VAWMV P.T.O.



28.

fefafaa g« =1 991, 99 (emf) IfErfca HifsT

Zn (s) | Zn2* (0-1 M) || Sn2* (0-:001 M) | Sn (s)

f@m e : E) 01y =—076V, EQ 91/ =014V

[log 10 = 1]

g H 17°C | 27°C T Jhg 1 W Tohdl] Fa tffshan &1 o1 a4 1 &1
AT 8 | 39 A9HAT o ToTT Afshaur il 1 Iieherd hifag |

[fean T 2 : 2303 R = 19-15 JK " mol L, log 3 = 048]

Qs ¥

ET1TIGT o7 HT-3TTETRT 97 & | BF Bl 9% 96T 37K 15T 7T I949] & I Gi19¢ |

29.

56/2/1-12 16

HeTarsge 4l 3 TRT gHi § Sfted o e mawess 8id 8 | iei § W™
61 T N Tt § rghise % &9 H Hreiaee dugu vt i wifd g
Bd 8 | THEHe 9 ¥ I uifdgEgidE Ufcegss A¥dT hidd Bd 8§ |
FEEESE Hl TA-TIH H IToh AGER o AER W HHIAREE,
FfRTahEe 3R difcrdhise # affepd fopam T 7 | At Idese sTa=mh
AU BT 8, AT A T ATHehHeh qol hiow faee & sifaelied 8l It & |
TRIE ST AHHRUSS UrSladdls Bidl 8 3T 38R 3T10aeh ¥ CgH 90 TR
T | fafe= eafyeRdent S HI, HoN — OH, SiHH Sid, (CH5C0),0 31 &
Y TR hich THeh! FCaAT H T Ufcegse aqg, Uk WAk Usehigiic®
g (- CHy0H) 3R IR fgdae Ueeblgiciee @98 (> CHOH) YW U |
ufeearse dYg 3UfEd Bid 3¢ Wi e Ufeeatse Hg i $o AWM SE
3% wfiequr, NaHSOg I &1 <dl 8 | I8 i o g =shid gHIvEed &l
% ITIcd I FHIATAT & FoH TH=TaT shad C — 1 W AT gRgiadad g
fommer & 2t 2 |




27. Calculate emf of the following cell : 3
Zn (s) | Zn2* (0-1 M) || Sn2* (0-:001 M) | Sn (s)

. (0] (0]
leen . EZn2+/Zn =-076 V, ESn2+/Sn =—014 V
[log 10 = 1]

28. The rate of a gaseous reaction triples when temperature is increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK " mol %, log 3 = 0-48]

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH1950g. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)90, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg4
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/1-12 17 VAWMV P.T.O.



(%) TR IERT FAT B & ? 7

(@) fmAfcIRaa sl AFHUsS TR S3dHhUsS H aifiehd hiT

A, hid, aed, Toiadd 1

() 3| UifcTdehse &l A saEe o oft e w8 S @ | 38 ot

¥ Il had @ ? 2

AT

(M) () TRE % 3 GUEIAl o AW 1S, o Wshid ®T H C — 1 W
— OH 9wg o fo=ma & fi=an gt 7 |

(i) TRE I Bry A o WY AAGRAT fohd ThEIcHS® THE hi
Iuferta 1 gy et g ? 2x1=2

30. THAU g h Il U] Fedl SRM W d-hefh YU Bid & |
TS | IR R d-hefehi i IUTEATd TshHUT Teal ol STHHA Tl o
T L el & | AT €9 U ARG d-HeTehi o HRUT A T S AT
0T SR &, S 3Teh ARl FEATY, T STRAT I AT qAT 3THH TR
% ferreel o @ Ggpet Fmior anfe | opmur arqd qen sk AR SR O |
IITEhT FaER Ht R & | TehAU 91qe Afd HoR qAT 3Tcd A=A Bt
813 E° M%Wﬁﬁﬂﬁﬂﬁa‘cﬁﬂﬁlm%:

M2t/




30.

56/2/1-12 19 VAWMV P.T.O.

Answer the following questions :
(a) What are reducing sugars ?

(b) Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose

(c) Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ?

OR

(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(ii)  Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured ions and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the El(\)/lz I values

shows the varying trends :



0
EM2+/M
\% ~118
Cr ~ 091
Mn —-1-18
Fe —0-44
Co ~0-28
Ni ~0-25
Cu +0-34
Zn ~0-76
freferfad gt o I G
(%) TorE STTUR W 39 g Tehd 3 T Cu Tsh HshAY T & oifehd Zn &l ?
(9] pHT : Cu = 29, Zn = 30) 1
(@) wshHY ded STTeRITehtuT sraeersti | fafaeran =i guiid g 2 1

M G oHfexm g fe T E§42+/M % WH ARG g F= g

87
(i) TshA GTgsT | ATaiehtor sraxenedi i Iiad-adr STEshHv awi
&1 gitgd-iaar 4 forg e fa=1 2l 2 2 2x1=2

HAYAT

o NN

(M) () Cr’* v AU g Sdieh MnSt Uodl H{aeiheh, Seeh a]
& q* wiefis 2, = 2
(9THTY] 3pHT : Cr = 24, Mn = 25)

i) T st gt qut Shife 2x1=2

2MnO, + HO+1™ ——



EK42+/M
V -1-18
Cr -091
Mn -1.18
Fe - 044
Co —-028
Ni —-0-25
Cu + 0-34
Zn - 076

Answer the following questions :

(a)

(b)

(c)

(c)

56/2/1-12

On what basis can we say that Cu is a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30)
Why do transition elements show variety of oxidation states ?

(1) Why do EK/IZ M values show irregular trend from Vanadium

to Zinc ?

(ii1) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ? 2x1=2

OR

(i)  Of the a* species, Cr?* is strongly reducing while Mn3* is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(ii)) Complete the following ionic equation : 2x1=2

2MnO, + H)O+1™ ——

21 VVWAWVVVAWVVAWWNAVVVIWAVAAWAVNY P_T.O.



Qs &

31. T=fafed & 9 5l orer & I difvw 5x1=5

(%) HATHAHT THd hl foreedt & faured i () FhE TR aqsherhi
GHA oh! fodTe HoAl (A) § FE 2 2

(@) frafafaa @gat #1 IUPAC 7 fafew
[PtCly(en)y] (NOg)q

() wANShar AEY fHga (VBT) @ YR W §%d [Ni(CO),] hi Samtfd
3R gehT aER Ty |

(") @A [Co(NHg)gl [Cr(CN)gl % G Tohl YR <hl THTIIGAT GRMg ITchl
2?

() e o figia & snur w fordt Sugeae Afies o d* e =

goiagi-eh fa=m ey Afe A < P 81 | &1 I8 IusgadisH Aihes 3=

JIShUT 1T T T=IshUT T & ?

(&) [Co(NH3)gl®" 3 [Co(NH3),Clyl™ H & &iH Boiaifdsh Tt & 3N
w1 ?

(®)  [PtCly(en)ylt & Jehi3Teh HHTERE! chl TTEATE SATST |

o (el e

32. (%) () Tm=fafga & wro i .

o N\ N

(1)  hICHI T T § UfcsgIsel o1 SATaiehiul 3T Bidl & |

2) UfTeEEel % UeHl (o) BTESNH THIS H TR e
B 7 |
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31. Answer any five of the following :

(a)

(b)

(c)

(d)

(e)

()

(g)

32. (a)

56/2/1-12

SECTION E

How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A;) ?

Write the IUPAC name of the following complex :
[PtClz(en)z] (NO3)2

Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

What type of isomerism is shown by the complex

[Co(NHj)g] [Cr(CN)g] ?

For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

Out of [Co(NH3)6]3+ and [Co(NH3),Cly]*, which complex is

heteroleptic and why ?

Draw the structures of optical isomers of [PtCl2(en)2]2+.

1) Account for the following :

(1) Oxidation of aldehydes is easier as compared to
ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

1n nature.
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Gi) Tr=fafaa safufspanet & 3cae fafa
COCH,4

NaOH/ I,
(1) >? + ?

COCl

(iii) TUIHEH A 3N VI H fave &1 o v ava gemtaes adie
AT | 249+1=5

HAAAT

(@) () FCSERS & 2,4-SEAELBHARESAM shl TLEHT SHRT |

(i) F=faRad w1 37k HCN & ufd sifwlsramsficiar & s¢d gu A |
EIIEAIE I

CH3COCHj3 _ (CHg)3C — COCHg , CH3CHO

(iii) 39 HHA THBRM saEe *1 d=igeh 3Fd d 5@ YR
T kil ?

(iv) wafcegse 3 VId H fave = & fou ara gaRfie gdie
fafeu |

(v) Tfafea sifufsean o g 3oarg fafge

(i) NaBH,
Il (1) H
0O 5x1=5



(i)  Write the products in the following reactions :

COCHj

@ NaOH /I,
(1) >? 4+ 9

COCl

(2) @ + (CHg)yCd — ? + CdCl,

(iii) Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 242+1=5

OR

(b) (1) Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

(ii))  Arrange the following in increasing order of their reactivity
towards HCN :
CH3COCH3 (CHj3)3C — COCH3 , CH3CHO

(iii)  How can you convert phenyl magnesium bromide to benzoic

acid ?

(iv) Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

(v) Write the main product in the following reaction :
(i) NaBH,
Il (1) H
O 5x1=5
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(i1)

(1)

(i1)

0-05 M CH;COOH fa@@a 1 felig 100 378 9= T | 3l
I s 00354 cm™! 8, @ WEHifes sra foemm Hl Alen
TTAhdT THehieTd ehifaTY |

He o fagd-saaed w1 yud faw fafew | 1 91 MnO,
Mn?* § 319=H & foru e o forae sraer <) sravHehar arft 2
3+2=5

HAYAT

0-0025 mol L Uehifeesh 310 &l arerehdl 5:25 x 10° Sem ' # |
Ife UHifew 71 & T AL, 1 W 390 S em? mol ™t &,

o O N

gHen[ IS HIEAT bl qiehar al'c)”:_ﬂQ |

e G 9l o UAlS, hele iR way sifulhan fafag | 3+2=5
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33. (a)
(b)

56/2/1-12

(1)

(ii)

(1)

(i)

The resistance of 0-05 M CH3COOH solution is found to be

100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn2+ ?

OR

The conductivity

of 0-0025 mol L_1 acetic

acid

3+2=5

1S

5.25 x 10™° S em™ . Calculate its degree of dissociation if A(I)n

for acetic acid is 390 S cm2 mol_l.

Write anode, cathode and overall reaction of lead storage

battery.
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